
ZÁVĚREČNÝ TEST 

Trojúhelník III - Lektor 
 

_____  ROLINO metoda® výuky  _____________________________________________________________________________________________________  1  _____ 

 
 
 

 
 
 
 
 
 
 

 

Name:  ____________________________ Date:  _________________ 

Result:  ________________ 

1) Your sister isn’t helping him. 
 

 =  ___________________________________________________________________ 
 

2) There are some apples in the basket. 
 

 =  ___________________________________________________________________ 
 

3) Did he give you the books? 
 

 =  ___________________________________________________________________ 
 

4) We often visit our grandmother in summer. 
 

 =  ___________________________________________________________________ 
 

5) His daughter worked well yesterday. 
 

 =  ___________________________________________________________________ 
 

1) She  ____________  a good lunch last weekend. 
 

2) They  ________________  my question yesterday. 
 

3) The dogs  ____________  in the garden last Monday. 
 

4) We  ____________  for him at school last week. 
 

5) The boy  ________________  his homework yesterday. 
 

Dictation: 

_____  /  10 

Fill in the correct form of a verb: 

cook, finish, play, wait, answer 

: 

_____  /  5 

Tvá sestra mu (právě teď) nepomáhá. 

V košíku jsou nějaká jablka. 

Dal ti ty knihy? 

My často navštěvujeme naši babičku v létě. 

Jeho dcera včera pracovala dobře. 

cooked 

answered 

played 

waited 

finished 
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1) Your brother got a new puppy last week. 
 

 _____________________________________________________________________ 
 

2) He offered them some biscuits. 
 

 _____________________________________________________________________ 
 

3) I am calling my best friend. 
 

 _____________________________________________________________________ 
 

4) She often works at home. 
 

 _____________________________________________________________________ 
 

5) We celebrate his birthday every October. 
 

 _____________________________________________________________________ 
 

6) The girl was the youngest of all. 
 

 _____________________________________________________________________ 
 

1) Is November the eleventh month of the year? 
 

 _____________________________________________________________________ 
 

2) What can you see next to the window? 
 

 _____________________________________________________________________ 
 

3) What can you do in winter? 
 

 _____________________________________________________________________ 
 

4) What is the opposite of first? 
 

 _____________________________________________________________________ 
 

Answer: 

_____  /  12 

Make questions: 

_____  /  8 

Did your brother get a new puppy last week? 

Did he offer them any biscuits? 

Was the girl the youngest of all? 

Am I calling my best friend? 

Does she often work at home? 

Do we celebrate his birthday every October? 

Yes, November is the eleventh month of the year.    (např.) 

I can see a door next to the window.    (např.) 

I can ski, skate or build a snowman in winter.    (např.) 

The opposite of first is last.    (např.) 



ZÁVĚREČNÝ TEST 

Trojúhelník III - Lektor 
 

_____  ROLINO metoda® výuky  _____________________________________________________________________________________________________  3  _____ 

 
 
 

 
 
 
 
 
 

 

I.  NEED =  ______________ I.  COOK =  ______________ 

II.  ______________ =  ______________ II.  ______________ =  ______________ 

III.  ______________ =  ______________ III.  ______________ =  ______________ 
 

I.  CLIMB =  ______________ I.  OPEN =  ______________ 

II.  ______________ =  ______________ II.  ______________ =  ______________ 

III.  ______________ =  ______________ III.  ______________ =  ______________ 
 

I.  PREPARE =  ______________ I.  COLOUR =  ______________ 

II.  ______________ =  ______________ II.  ______________ =  ______________ 

III.  ______________ =  ______________ III.  ______________ =  ______________ 
 

I.  WALK =  ______________ I.  WAIT =  ______________ 

II.  ______________ =  ______________ II.  ______________ =  ______________ 

III.  ______________ =  ______________ III.  ______________ =  ______________ 

1) nějaká brambora a šest brambor  =  ________________________________________ 
 

2) nějaký zub a deset zubů  =  _______________________________________________ 
 

3) nějaký sněhulák a čtyři sněhuláci  =  ________________________________________ 
 

4) nějaký vlk a patnáct vlků  =  ______________________________________________ 
 

5) nějaká jahoda a osm jahod  =  ____________________________________________ 
 

6) nějaká ryba a dvě ryby  =  ________________________________________________ 
 

7) nějaká husa a dvanáct hus  =  _____________________________________________ 
 

Write the three forms of the verbs and translate them: 

 

_____  /  16 

Translate: 

_____  /  14 

needed 

needed 

walked 

walked 

cooked 

cooked 

opened 

opened 

waited 

waited 

potřebovat 

potřeboval 

potřebovaný 

procházet se 

procházel se 

„K“ 

vařit 

vařil 

vařený 

čekat 

čekal 

„K“ 

 

otevřít 

otevřel 

otevřený 

climbed 

climbed 

šplhat 

šplhal 

„K“ 

 

prepared 

prepared 

připravovat 

připravoval 

připravovaný 

coloured 

coloured 

vybarvit 

vybarvil 

vybarvený 

a potato and six potatoes 

a tooth and ten teeth 

a snowman and four snowmen 

a wolf and fifteen wolves 

a strawberry and eight strawberries 

a fish and two fish 

a goose and twelve geese 
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1)  reward A)  houba 1)  G 

2)  witch B)  tichý 2)  K 

3)  subject C)  mračit se 3)  L 

4)  city D)  pamatovat si 4)  H 

5)  willow E)  křížovka 5)  J 

6)  silent F)  zvláštní 6)  B 

7)  wish G)  odměnit 7)  I 

8)  frown H)  město 8)  C 

9)  special I)  přát si 9)  F 

10)  cross-word J)  vrba 10)  E 

11)  mushroom K)  čarodějnice 11)  A 

12)  remember L)  předmět 12)  D 

1) There is a bush in front of the tree. 
 

2) There are two red birds on the tree. 
 

3) There are three green leaves under the tree. 
 

4) There are two stones next to the tree. 
 

5) There is a blue flower between these two stones. 
 

Match: 

_____  /  12 

Draw: 

_____  /  5 

např. 


